MARKING SCHEME
CLASS- X

SCIENCE (2023-24)

o HF-Aoem # Ru v sw-feg sifaw 7@t 81 ¥ gomareAs @
aidfaw g1 afy et & s e, freg 3ugea s R &,

a 3 39T I T S|

e The answer points given in the marking scheme are not final. These
are suggestive and indicative. If the examinee has given different, but
appropriate answers, then he should be given appropriate marks.

Q. Questions Marks
No.
1. | a) T FT ISR Tod
1
Rectangular glass slab
2 a) forar s Y
fegd arr x @7y
Work done 1
current X time
3. |l W & Y1 &7 YehioTe 378 glod & HROUT 3T
T T At fe@g ¢ar &
1
Clear sky appears blue because blue colour is most
scattered.
4. | ST

N
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Fuse

c) A I § WJ R 38T &l

A is true but R is false.

a) GI & YR (@A FhRN) F WsH F TR R T8
YRl | Haady @i H [asterd g 1 gl
(1 37)

When sunlight (white light) passes through the prism,
this light is divided into seven constituent colors.

(1 mark)
b) edd YT & TuT fI&IUT & Herd®q 9red aTd Wi
T 3HeTsh# TUThHA hgellal ¢

(1 3t)
The sequence of seven colors obtained as a result
of the dispersion of white light is called the spectrum.

(1 mark)
a) faegd greX &I 3N T YieRIer S0 gielm g
sHfoT 9§ 3dvd #ar g (V5 3ieh)

Safeh 3G di9eT 37add & IfaUY 38 gl & 398
31 FSAT 3cTeT gl & 3R ag 3dcd g Srar gl

(V2 37h)
The resistance of the electric heater cord is

negligible. So it doesn't heat (Y2 mark)
Whereas due to the high resistance of its heating
element, it produces more heat and becomes
agitated. (2 mark)

b) fARM3T &I JIRIEHAT 3¢ ellal dTell et LT3t
$r 38T 3E B ¢ (V% 3ie)
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3T A9 W8 A AT ferdiehd e 8|

(Y2 37)
The resistivity of alloys is higher than that of the
pure metals that make them. (Y2 mark)
These alloys are not oxidized even at high
temperatures. (*2 mark)

Or
(i) 90 9faIer gread & v o ufaieeT i aredshd
H TUT T UfcRIee Y 3o AvishA F SligAT AU
(1 37R)
(i) 4Q 9faRTET ured ¥t & forw a1 gfaRierent &t Sofira
A 53 STl Jed 9ialiyr =60+60=120 Y 58 AW
gfcRIET & AT URdshd H SgAT A1fRT|

(1 37)

(i) To obtain resistance of 9Q, two resistors should
be connected in parallel combination and one resistor
in series with them.

(1 mark)
(i) To obtain 40 resistance, two resistors should be
connected in series whose equivalent resistance =
6Q + 6Q = 120 then added in parallel combination
with this third resistance.

(1 mark)

A & TR & IgER afe av e ifaw e
fAgd @i are o R gfoigs & R & i 3cued
fasrarraR 30Y yafed ORT & FATUCT g g

(1 3%)
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fordll =mereh T ag I[UTERT ST ATele A fdegd URT Yarg
I Y AT & faegd afaier wgardr g

(1 37R)
R areres &1 9oy Afaf@a s W AR Far
g AR I oFeTs, HTeleh o 3TIOEY Hic & &TThel, Tard
CARCCAC]

(S al, IAF & ¥ 37)

According to Ohm's law, if physical conditions such
as temperature remain constant, then the potential
difference generated between the ends of a resistor
is proportional to the current flowing from it.

(1 Mark)
The property of a conductor which opposes the
current flow in the conductor is called electrical
resistance.

(1 Mark)
The resistance of a conductor depends on the
following factors: the length of the wire, the area of
the transverse cut (cross section) of the conductor,
the nature of the substance.

(any two; %2 marks each)
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GfRa 3@ feem afga- 1 3)

1. TFehT & Y@T 3T Yo @ fsherey gfarolr ga

& AR 8 S ¥ |

2. ¥ & 3T, Yrahg &1F T feur saeh afEoh ¢ga
8 3 ¢ HT 3R BT ¢ |

3. FIH &7 WY §¢ a% el ¢ |

4. STgT YFaehId &9 IWIT el Bl & a6l greehrd &1
FSTT BTl & |

5. & TFaHIT 8T Y@V F3 vh gu i ufaedg 8
FIAT 8 |

(P IR; TAH HT ¥ 37h)

/

>

3 T~

—1

(Proper diagram with directions- 1 mark)

1. Magnetic field lines emerge from the North Pole

and merge into the South Pole.

2. Inside the magnet, the direction of the magnetic

field is from its south pole to the north pole.

3. Magnetic field lines are closed curves.

4. Where the magnetic field lines are dense, the

magnetic field is strong.

5. Two magnetic field lines never intersect each other
(any two; 72 marks each)
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Or
arg 9 e faegerieh died & AR i defel I 3MTehic
T 3 B arell Fzell & ARAR Fed B
(1 37h)
aRerifernr & ek Grahid &1 [T FATGR @13 6
Afa g g1 frel oRenfosr & sfiaw @el fawgaf
ThEHAT qFaehg &7 Bl &

(1 37)
I §HF Y=l cIfgal g1y A fIeId YRIATET dTelsh I 59
JhR Uhs foh §ART 39T faegd &mT 3T Hevel Tl
g, o BANT Aol dTeleh & TRT 3R Yraehrg &
@3t Fr fgem A foodr gl

(1 3)
A multiple-round coil of the cylinder shape of an
insulated copper wire wrapped nearby is called a
solenoid.
(1 mark)
The magnetic field lines within the solenoid are like
parallel lines. All the points within a solenoid have
the same magnetic field.
(1 mark)
If we hold the electric current in our right hand in
such a way that our thumb points towards the
current, our fingers will be wrapped in the direction
of the lines of the magnetic field around the
conductor.
(1 mark)
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10.

a) ST 9ehrer fohdr TifelkigR ool WX FRar g af a7 &
THA ThIeT T 3AT ATIH H ol ’ar gl 39 °ear
I Yh1A T IddeT Fed ol

(1 3i)
Wddd & AeATalf@d af @a# g-
(i) 3MYdeT HIVT JAT WAdel HIOT Fed KR @A g,
AT zi=czr.
(1 3i)
(i) 3mafaa forvor, gafda foeer aar Afdees d=
TF & ad H g §
(1 3i)
When light falls on a smooth and polished surface,
the light is returned to the same medium by hitting
the surface. This phenomenon is called reflection of
light.
(1 mark)
The following are the two laws of reflection:
(i) The angle of incidence and the angle of reflection
are always equal, i.e. zi=«r.
(1 mark)
(i) The incident ray, reflected ray and normal are
all in the same plane.
(1 mark)

b) (i) 3rader gqor

(Y2 3Teh)
AT H Gl I ATFA/M FATR fhor gor e
o & faT fvar Srar B

(Y2 3Th)
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(i) 3der guor
(V2 37h)
Fifeh 3del  GUUT Wea YT, AT, qUT AR & G
olel IfafaFe Folld § dUT Soeh SIgY Sl 3R dfshd glel
& HRUT FoTahl Tfoe &7 g 30 g &l
(IS Th, Y2 3ih)
(i) concave mirror
(Y2 mark)
It is a converging mirror and is used to obtain a
parallel beam of light.
(Y2 mark)
Convex Mirror
(Y2 mark)
because convex mirror give an erect, virtual and full
size diminished image of distant objects with a wider
field of view.
(Any one, Y2 mark)
Or

3qd o qdd o

39 o 9T ¥ HleT | 3fadd ol g & # &
IR ARy & uder | gdemr dur ARy &
gier &l AT BT &

3dc o g T YINT | adel o HI GINET
IEC aIY & fHaRuT | e av &
& ® HA Far oar| Farer F & F Far
gl ST 1
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3dd o9 H qE] I
gyfdfers  areafas
dUT 3ol dAdT gl

3add oF H qE] I
gfafees  3maRT  gar
AT Sl g

3dd oF I Bihd

A geTlcAS g gl

Fadd ol H Bled
g HOMcAS grar ¢l

3dd ol UHhIA I
fom 1 TR g W
Shfed wtar &

yadd ol Tehrer hr
fRYoT & fow 2ar &

(FIS deT; IAH &1 1 3i)

Convex lens

Concave lens

The convex lens is
thicker the
middle and thinner

from

at the edges.

Concave lenses are
thinner in the middle
thicker the

edges.

and at

Convex lenses are
used as a
prevention of

farsightedness.

Concave lenses are
used as a prevention

of nearsightedness.

In convex lenses,
the

object becomes real

image of the

and inverted.

In concave lenses,
the image of the
object becomes
virtual and erect.

The focal length of
convex lenses s
positive.

The focal length of
concave lenses are
negative.
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Convex lenses | Concave lens diverge
converges rays of|rays of light
light at one point

(Any three; 1 mark each)

b)
1 1 1
f v u
(1 3#65)
1 1
f v u
(1 Mark)

c) T el W FT whE g 1 e @ ar 3§ I
§TAAT 1 ST FEarel ¢l
(1 37)
When the focal length of a lens is 1 meter, the power
of that lens is called 1 diopter.
(1 mark)

11.

WIGIEAEEG]

Nitrogen

12.

c) SfFar |rsr

Baking Soda

13.

YIS

Graphite

14.

fETA a5 ThT o1 & S, ag &7 3URYd 3iieirsr
T fopar s 3T g odT gl
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Sodium is a highly reactive metal which reacts with
the oxygen present in the air and catches fire.

15,

c) A I § WJ R 38T &l

A is true but R is false.

16.

9 37Fe fhdl &R & fohdl &Xar § a9 oauT 3R oo
oA B
(1 37h)
NaOH + HCI - NaCl + H,O
(IT FIS 3T 3G1eI0T, 1 3h)

When acid reacts with a base, salts and water are
formed.
(1 mark)
NaOH + HCI - NaCl + H,O
(or any other example, 1 mark)

17.

U8 Had H HfedIHA FHIElIC gidT ¢l

(Y2 31)
9 3HH ABfed e Ao Jar § dr e
SIS3HTFATSS I HeFd Bl &l

(V2 37h)
CaCO3; + HNO3; > Ca(NOs3), + H,O + CO,
(1 3i)
Egg shells contain calcium carbonate.
(Y2 mark)

Carbon dioxide gas is released when nitric acid is
added to it.

(Y2 mark)
CaCO; + HNO3;> Ca(NOs3); + H,O + CO,
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(1 mark)

18.

AYASH 3FT (BITES 375 gl
(1 3i)
RS IRIEED 3 HCOOH gl
(1 3i)
Y Ugd 9« & T s off 3uceyr & &qur
3ergIond, affer @ (NaHCO;) 380 W 9T & o
ST TehT Bl
(1 3i)
Methanoic acid (formic acid).
(1 mark)
The chemical formula is HCOOH.
(1 mark)
Any available basic salts, for example, baking soda
(NaHCO3) can be used to relieve this.
(1 mark)

19.

grd 34ard

1. U &Y 3ieFATSs | 1. UV 3l a1
T & JeTeT Jirarss
ATl 8

2. 91qU o] HCl a1 | 2. 31emqu

dql H,SO, & 3fAfshar | dsf HCI T

X Hy 3 AFT &I | T HSO, &

g, Fifh gISEIoA T | ATATRAT A&7 AT
faraa &t &l &1 | €, T grsgio &
farfa &g s
el
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3. UIqU 37U gl

3. 3-T‘E—II<;I'5 EEBIEED

giel 8l

4. 1qU STeT (AT A9) @
gBsolT ol fararid
AT &l § |

4. 3T ST 4 AT
g & FfRfRar A8
FIAT & | 37 Hy, &1
ST O g w7

$Tal gl
5.4V Soldeled careT | 5. 3TV Selarcie
Y YollcHD AT dguT  hl HKUMcHSD
AT &1 RIS §arar B

6. @l  earqu H, ¥
{AET A gISSSs Aol
CEirs iy

6. @el 3rerqu H, &
{INT &L FISgIsS
AT ST B

(IS A1, Ucddh T 1 3H)

metals

non-metals

1. Metals form basic
oxides.

1. Nonmetals form
acidic or neutral
oxides.

2. Metals react with

diluted HCI or dilute

H,SO, to release H,
gas, as they displace
hydrogen.

2. Non-metals do
not react with
dilute HCI or dilute
H.SO,, because
they do not

displace hydrogen.
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3. Metals are
reducing in nature.

3. Non-metals are
oxidising in nature.

4. Metals displace

hydrogen from water

(or steam).

4. Non-metals do
not react with
water or steam.
Therefore, H, is
not displaced from
water.

5.Metals lose
electrons to form
positive ions.

5. Non-metals gain
electrons to form
negative ions.

6. Not all metals
combine with H, to
form hydrides.

6. All non-metals
combine with H, to

form hydrides.

(Any three; 1 mark each)

Or
HoteT IGEGING]
g arg &I
> arg I et
3ureafa & giar & @ ¥
gl
o | R s
& forT grar g
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3IEH AAS AT
quT ®9 & 3TEh I
3ffereliepel g1 STel sTel grar gl
el
SHH AT HI SUH 3T HI
qUT &9 ¥ T | g 7@ fear
ST B STt

(IS B, A T 1 )
foteT: ZnS + O, > ZnO + SO,

fAFamgs; CaCO; > CaO + CO,
(TAT AT 37T 30T, YA T ¥ 37h)

roasting

calcination

It occurs in the
presence of air.

Occurs in the
absence of air.

It is for Sulphide
ores.

It is for
Carbonate, oxide,
hydroxide ores.

The ore becomes
partially or
completely
oxidized.

The ore is not
oxidized.
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In this, the ore is | In this, the ore is
completely not allowed to
melted. melt.

(Any two; 1 mark each)
roasting: ZnS + O, » ZnO + SO,

calcination: CaCO; »> CaO + CO,
(Or any other example., Y2 mark each)

20.

a)

e grsgiehtest # YlfSaa 3rar foehel St et
I IUTEATT H FTSSIolel & AT § ool BISSIehrael Soidl
g, 59 grssIeeever #gd gl

(1 37)

MNe@@d  Hqudler- HJeT aaT (Faeafd dell) &

~

AN

BISSIolelleh 0T | Feeqld © (HJCd adr) Selrar il gl
(1 31&)
Saturated hydrocarbons are formed by the addition

of unsaturated hydrocarbons and hydrogen in the
presence of catalysts such as palladium or nickel,
which is called hydrogenation.

(1 Mark)
Industrial Applications- Vegetable ghee (saturated
fat) is made from hydrogenation of unsaturated fats
(vegetable oils).

(1 Mark)
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b) HEerT; (Y2 31e)

I H el & & T AR & 6§ Fellel T
37 &TACT Bl &1 SH 0T & HGolel &gd ol ol
IR H hleeT T ofell H@ell el T A= eman3i

aTell AWl IT IFET & HhR H AT il qIT
ST 2l

(1 37R)
I: TLTSTehT: (V2 37hR)

HIET H IR ISR Bl &l SATGIT ST Fed & IR
k=) qupﬁ TN FS 3T gdrsleh dedl & qmrug}ﬁ &
AT YA TATeT FT AT aray &

(1 3i)

Catenation:
(Y2 mark)
Carbon has an amazing ability to form bonds with
other atoms of carbon itself. This quality is called
catenation. Long chains of carbon in these
compounds carbon are found arranged in the shape
of a chain or ring with different branches of carbon.

(1 Mark)
Tetravalency:
(*2 Mark)
Carbon has four valency. It therefore has the ability
to form bonds with four other atoms of carbon or
atoms of some other elements.

(1 Mark)

Or

Downloaded from cclchapter.com




GIGH (Va2 37h)

)

c—l‘lj-—- C]'lzd-- C".I-!:- .-_'Hl'—' L | |3

i)
CHy — CHy — CTH — CHy
CH,
Gii)
CH,
CHz — c'- — CH3
!ZI‘H 1
(IAh FT Y2 3ih)
Three: (Y2 mark)
G)

CH3y = CH3 = CH; — CHa— CH;

(it)
CHy = CHz = CH — CHy
1
CHS
(i)
CH4
CH=z — t.!' — CH3
E.'H._q.
(2 mark each)
b)
i) H O

|
H—C—C—OH

I

H
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(1 3/) / (1 Mark)

. H H H H H

) L
H~C~=(C~=(C=~=(C=(C-—Br

Lo

H H H H H

(1 3t) / (1 Mark)

iii) H H H H H o0
[ I e
, H=—C—C—C—C—C—C—H

.-,
H H H H H

(1 3t) / (1 Mark)

21.

\J

a) g

Glass

22.

c) 3WIed il H

Both of the above

23.

3irerdreteT

24.

Oxygen
EO Ko

Insulin

25.

a) Ad R gl @ § 9T R, A &I &g <JrEan gl
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Both A and R are true, and R is the correct
explanation of A.

26.

ITATETSH: Teh AN 3@T A AT, Aigfehel T, Teh
98l 33T

(FS aY; IA® HT % 37F)
AZAT: TFdeld, aR AT, JHe

(S 2T, TAH F Yo 37h)

Cerebellum: Walking in a straight line, cycling, lifting
a pencil (any two; 2 marks each)
Medulla: blood pressure, salivation, vomiting

(any two; %2 marks each)

27.

. & gTdl & €T & X Pl FeleT|
. 37aIfSd ITHEEAT FT Ahed b [T
. it TR A9 & FAIOT &l Ahed & [T
ST gefe &l AT el
(1S 2 TAH & 1 3ih)

A W N =

1. To increase the gap between two children.
2. To prevent unwanted pregnancy.
3. To prevent transmission of sexually transmitted
diseases.
4. To control population growth.
(Any two; 1 mark each)
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28.

Vs 3Th)

Anther | §
£
g
Filament)

Pistil

(Proper diagram- 1 mark, any four proper labelling;

Y2 mark each)
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29.

ASA o 9l foh ey od HeT & WY qUT ey
diet A & 9T & g gHIor ¥ Fy drer F ured
gofr dier o« o)

I
I x (w — (e, (T, (Ty), (T
@ o o (F 1)
HUTA, ar &Tull # & hdel Teh Ygah FeTehid oI&ToT
& @S &ar ¥1gy v oefur sEa &

(1.5 3ih)

efada axor & 3@l Fy (T t) @& & wreq qted &
TIYIATOT AT dF 9rar fob o« dUr sl 9ie &
AT 3:1 ATl AT Fp, I & o o9 Y e
Y, o Sl WY TeTdr TA&Tor arer o1 A

1.

(To x N EEmEeding 8 § vy iy, T9 (o)
T = Elel

U HSST & TIAET & TASC @ SATdT g Toh oI&for
gHTAT AT ATATAT & Thd &l

(1.5 3i®)

Mendel found that F is caused by hybridization
between pure long pea plant and pure dwarf
pea plant; All the plants obtained in the
generation were tall.

l.

I x (0 — (Te, (o), (Te, (Tt

o | o (F, 1)
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That is, only one of the two traits appears
ancestral trait.
This is called dominant traits.

(1.5 marks)

In the second stage, he; (t t) When self-
polling was done in the plants obtained from
the generation, it was found that the ratio of
long and dwarf plant was 3 : 1. i.e. F, Tall
plants were also dominant in generation, but
dwarf plants were also with recessive traits.

(TO) x (T1) crosspreeding (TT) T, (T (0
LIETL i 1

That is, the use of Mendel makes it clear that

symptoms can be effective or ineffective.
(1.5 marks)
Or

AeTal H fofor @ foeiRor Ay fofer o1 @& & 3muR
W BIaT &1 7R H XY 07 g 8l § AR #Arer & XX o
g e gid &1 399 Tuse & o Aer & q& Y apor
A I g o181 81 STe AT-AGl & HIAWET & {dAlel 3cTodd
gict & o #rer fonelr off 3raedr & & RIY A 3cqe=
T H TAY F &7 G Fhll Fiteh X AL F XY (0T
A B aIfeel (1 31)

o= fohar & afe gew &1 X folar aor g7 & & X
feler urgE & fAerar & ar 3@ XX SisT oo 3
Tl dShr o & H gl (1 37%)
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Afehed ST XY 71 Y folar 901 g & & feler o1 g+
O Ao ANaeT W af XY §a91| S8 ofgdh &l Sled
gl | (1 37h)

In human beings, sex is determined on the basis of
specific sex chromosomes. Males have XY
chromosomes and females have XX chromosomes.
It is clear from this that the female does not have
the Y chromosome. When offspring are produced by
male-female combination, the female may not be able
to produce a male infant at any stage because the
male infant must have XY chromosomes.

(1 mark)

In fertilization, if the X chromosome of a man is
fused with the X chromosome of the woman, then it
will form an XX pair. Hence, the child will be in the
form of a girl. (1 mark)

But when a man's Y chromosome combines with the
female's chromosome X, XY will be formed. This will
lead to the birth of a boy.

(1 mark)

OIS gryoT TSYaEgIeT gryor
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qIyuT T gg faur oaH
ST 39T el FaT
IR $T ThT &.

qQIyuT ST gg afer
Sgd S &g

GRECTGI

SH YhR HI 9T gihar
H, ST AT & T 3
Sial & TadF gidr gl

sH YR H, Siia
qIYoT & 9
ot & foIT 31T
Shah o R @rar
gl

SH YhR b GINUT H Fhrer
TeNT Fr gfehar &
ATETH O JI & Th1em
3eafa H Fee
SS3TFASS AR TTeil &l
3ATT Hlch AT IR
ST AT g

PIS ThIA TS
afafafer Jgr grdr
gl

qIY0T & 59 i !
o et arer S &r
3cOTeal & & H ST
ST B

qIVoT & 38 I
oI ST s
arel Sfiar &l

3TAFATI & &I
H ST ST gl

qIY0T & 3H YR H, T
3P geraf r Sfed
Fefeh Jerdt H gRafdd
T Sirar Bl

sHH Sfce Frefas
it T @
A & AR T
T TUThH H <o
& forT gamar Srar
gl
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qIyoT T fawerardt
qIYUT &l Jg oIl Gitli  |9pR T8 SATeTary,
3N Fo ael-g Aarel 3N (Fhash R 37
SFETRAT @ ol SITem | HeiT IR-Sehrer

el 2o Shar #F
glcTl &1

(@IS eT; Tcdeh HT 1 3ieh)

. . Heterotrophic
Autotrophic nutrition 9
nutrition

. The mode of
The mode of nutrition - .
_ _ _ nutrition in which
in which the organism \
_ the organism does
can prepare their own _
not prepare their
food.
food themselves

In this type of In this type, the
nutritional process, the |organism is
organism is dependent on other
independent of other organisms for food
organisms for food. as nourishment.

This type of nutritional
mode involves
preparing food using No photosynthetic
carbon dioxide and activity occurs.
water in the presence
of sunlight through the
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process of
photosynthesis.

The organism
employing this mode of
nutrition are known as
producers.

The organisms
employing this
mode of nutrition
are known as
consumers.

In this mode of
nutrition, simple
inorganic substances
are converted into

complex organic ones.

It involves
consumption of
complex organic
compounds and
then digested to
break down into
simpler
components.

This mode of nutrition
is carried out by the
plants and some blue-
green algae and

The heterotrophic
mode of nutrition
occurs in all
animals, fungi, and
all other non-

bacteria. photosynthetic
organisms.
(Any three; 1 mark each)
b)

(i) 3TerdIoteT &1 aRaga:

Downloaded from cclchapter.com




3TerEISToT 3] SATCTSe 3] & IR & S8 Fohd
gl Td # FAlg[g SAIaT $hst H gar ¥ il
Jar &1 g AT Y 39 Fdet H o Jar g FaH
3RSt & AT BT gl

(1 3ih)

(i) PIeeT SSIHTFASS HI TRAG:

gl TG, P SSHFASS Ul H 3w goraTlier
3afoT, I§ SAGIR §AR (&d Sollodl # giod &9
T & Fde & BHher H of ST ST gl

(1 37)

(i) Transport of oxygen:
The oxygen molecule can bind to the haemoglobin
molecules easily. Haemoglobin present in the blood
takes up the oxygen from the air in the lungs. It
carries the oxygen to tissues which are deficient in
oxygen before releasing it.

(1 mark)

(i) Transport of carbon dioxide:
Similarly, Carbon dioxide is more soluble in water.
Therefore, it is mostly transported from body tissues
in the dissolved form in our blood plasma to lungs.
(1 mark)
Or
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BRI 3R@- 1 3%, P IR 3T ATHRA; TcAdh FH
Vs 37h)

Left renal
artery

(Proper

Left kidney

Left renal vein

Aorta
Left ureter

Vena cava

Urinary bladder

Urethra

diagram- 1 mark, any four proper labelling; 2 mark
each)
b)
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Arteries

Veins

Carries blood away
from the heart

Carries blood
towards the heart

Carries oxygenated
blood

Carries
deoxygenated blood

Its location is deep

Ilts location is close

within the body to the skin
Their colour is red | Their blood is blue
due to the due to the

oxygenated blood

deoxygenated blood

The lumen in

arteries is narrow

The lumen in veins

is wide
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The pressure of
blood flowing is
high

The pressure of
blood flowing is low

(Any two; 1 mark each)
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